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Do not open this Test Booklet until you are asked to do so.

TR0ET 999 gRkEst (Test Booklet)
e, 2019 (Examination, 2019)
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Time Allowed : One Hour Thirty Minutes Maximum Marks : 100
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All questions carry equal marks.
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1. U FATHHIE S H 99 Ru U e #{ 8 e dEmn gias & S g AL
T farea

Write your Roll Number only in the box provided alongside. Do not write anything else on the Test
Booklet.

2. @ gRa®H § 100 §e ¥ NAF WsT 3 9o 39 OR Reed Ru T ¥ S99 w6
el /31 IOX & gl

This Test Booklet contains 100 questions. Each question comprises four responses (answers).
Choose only one right answer.

3. ol gdien gROH A TS A B UGS D uR O HY B R o o § @
B S I oI e W ) 38 Tt TR 3 9w oot 3 awsgw 3

P T A S I B P @ @ ave @ s w5 o) Prafiie saweer §
NI 'C' B g9 a¥e A e & R

After the candidate has read each item in the Test Booklet and decided which of the given options is
correct or the best, he has to mark the circle containing the letter of the selected response by
blackening it completely with Black or Blue ball pen. In the following example, response 'C' is s¢

marked :
A B C D

AL

=S

r
3
/,

Page- 1


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

fes=sy
1. R = Rew o9
37 Il ST 6. “TEH F AHME =T ¥ :
A 10wl (A) ST
(B) 10 & (B) HrH
(C) 10 S (€) Hr
D
(D) 10 SHaQ e S
) . 7. Y @ qarEEE 8
AT fraa ?
. = 8 (A) G (B) TThST
(A) == (c) foepa (D) TSIEA
(B) HaEoT A
©) wd @ 8. =l e @A ®
(D) fpET A (A) T T
(B) TgEY AHIA
3. “fiar He-de gega @& 81”7 H (C) STeAdIE T
. HE-Ha H=T g7 ‘ (D) a@% T
(A) fepamiasreeT o ‘Yz @ FE o PR H BA-H
(B) fagreor I B TAFT © 7
(c) femar ' - (A) FOT BRD
(D) =HILh (B) HH®IH
4. g + e F FE-O AR T 7 (G)y STATSTT IR
(A) € afa (D) HAH BRD
(B) o1 Af+er 10. ‘FORT B T GEEED TR
(C)' afs fe (A) drew (B) T&Hl
oy-aer <P (C) &Y (D) T&TA
't o el B 1. ‘st o faamret s B
' i ' (A) B8R (B) T
(A) |97 ST (©) 5 ©) T
(B) greET HIEHAT
©) e gl ERT - 12, ‘O Ugd aTell 9 ©
FHIAT (A) 99g< (B) =91
(D) 398 & g T . (C) sfug (D) HeaTaH
P.T.O.
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13.

14,

15.

16.

17.

18.

S @ R R
(A) §H (B) aToerar
(©) TR (D) |

9&t S TE RRE W A g

(A) SR Hepa

(B) Ak wp

(C) Tt

(D) mTRd

‘g gHEr erd wmiew B OH
YT FT B ?

(A) &= (B) ferar

(C) miagrgor (D) faQrser

‘ A AT e BT 1 oyt
BT -

(A) ST ariseg &7 S79E ST
(B) BIET-I2T BIFT

(C) A« YT de

(D) & &

JE I B

(A) T& STETH T H g9 ¢ |

(B) ¥ oTHW M & Y B |

(C) I8 M &1 ‘ST T © |

(D) T& T & TG T T |
FI-HT 9T YT 8], X hiI

W oaH - # [pE aRadw @
Iwg g 7

(A) a1 T Y
(B) wEr 3T Fie &
WIE X udd @
e T A & =t gy

19.

20.

21.

22,

23.

24.

25.

ST T e

A BrEE (B) WUT
(C) T (D) HET
‘A’ e BIA-AT B 7

(A) Ssvacdt (B) ISl
(C) IsuracT (D) Sg¥ct
:g H T & g SugEd 9=
(A)- HEIEN| (B) STATTH
(C) gsa (D) HIgomET
el &1 afy faRe 2 -

(A) 7& + Ry

(B) HETH + Y

(C) H8T + Hy

(D) A% + =[N

I AT ST B | BXg AT
HH H&e "1 § s B

(A) T (B) |1
(C) e (D) raT

TdoT F€1 gdY e - CECSIIE S
(A) gfaLigor

GREZ

(C) frare o
(D) TIAH

‘s e B

(A) T+ 9
(C) 5T + 4

(B) T+ g
O) I + =5
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5
ENGLISH
26. Choose the right sentence : 13
(A) Kalidas is the Shakespeare of India.
(B) The Kalidas is Shakespeare of India.
(C) The Kalidas is the Shakespeare of
India.
. ; 34.
(D) Kalidas is the Shakespeare of the
India.
27. 'We reached safe and sound.' Which part
of speech 'sound' is ? 35
(A) Noun (B) Adverb '
(C) Adjective (D) None of these
28. Choose the correct gender of Fox
(feminine) :
(A) Ox (B) Vixen 36.
(C) Wasp (D) Boar
29, Young one of 'sheep':
(A) Cub (B) Lamb
(C) Calf (D) Foal
Direction : (Q. No. 30 & 31) : In the following 37.

questions choose the alternative which best
expresses the meaning of the given word :

30.

3.

Vocation

(A) Holiday (B) Break-up
(C) Occupation (D) Virtue
Imperious

(A) Proud (B) Temper
(C) Tamper (D) Distant

Direction : (Q. No. 32 to 35) : Choose the
correct determiner from the given option

32.

'She will have been served food' is in
(A) Past perfect tense

(B) Future perfect continuous tense
{C) Future indefinte tense

(D) Future perfect tense

38.

39.

D
This lessonis ......cccee... difficult.
(A) too (B) very
(C) the little (D) much

'A word or law no longer in use' is called :

(A) cynic (B) out-dated

(C) reticent (D) obsolete

| love my books so much so that | cannot
part .....coo0em them.

(A) from (B) with

(C) by (D) without

Choose the word that is spelt correctly
from the given alternatives :

(A) Deceive (B) Decieve

(C) Diceive (D) Dicieive

Choose the correct article from the given
alternatives :

3 ] L F— one-eyed person.

(D) None of these

Choose the correct synonym of ‘Audacity” :
(A) Alertness (B) Timidity

(C) Humility (D) Boldness

Choose the correct antonym of ‘Malice' .
(A) Goodwill
(C) Spite

(B) HI-Will
{D) Hate

P .0
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D

Direction : (Q. No. 40 & 41) : Choose the
correct option of indirect form of speech :

40. The teacher said to the students, "Let us
start a new lesson."

(A) The teacher asked the students to
start a new lesson.

(B) The teacher suggested to the
students to start a new lesson.

(C) The teacher suggested to the
students that he should start a new
lesson.

(D) The teacher suggested to the
students that they should start a new
lesson.

41. He said to his teacher, "Good night, sir."
ot A

(A) He wished his teacher good night sir»

(B) He respectfully wished his teacher

good night.

(C) He respectfully bids his teacher good
night.

(D) He respectfully bade his teacher
good night.

Direction : (Q. No. 42 to 47) : Choose the
correct synonyms for the underlined words from
the given alternatives :

42, PROHIBIT:
(A) Allow (B) Grant
(C) Ban (D) Sanction
43. REGRET:
(A) Happy (B) Bloom
(C) Reproduce . (D) Repent

2019

T e —

44. WHIMSICAL :
(A) Amusing
(C) Sorrow

(B) Sad
(D) Mad

45. INTERMITTENT :

(A) Intermingle
(C) Periodic

(B) Indifferent
(D) Transmit

46. OBSTINATE :
(A) Absolute
(C) Obsolete

(B) Stubborn
(D) Old fashioned

47. CARDINAL :
(A) Chief (B) Cardiac
(C) Correct (D) Formal

Direction : (Q. No. 48 to 50) : Choose the most
appropriate option from the given alternatives to
fill in the blanks :

48. Hedeals .......... stationery.
(A) with (B) at
(C) on - (D) in

49. The tiger was killed ....... . the hunter.

50. He is weak
(A) at
(B) in
(€)
(D)

...... chemistry.

C
D

with

into
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7 . MATHEMAT cs
Moy
51. 2°><3°><4°=? 51. 29x30x4% -7
(A 1 (B) 24 (A) 1 , (B) 24
€0 (©) T A B T (C) 0 (D) None of these
52. 5+_1_(1)’6+10500+ 1050100 <l HIH g 52. The value of 5+1(1)0+10500+1050100 is -
~(A) 5.1551 (B) 5.0151 (A) 5.1551 (B) 5.0151
(9) 5.0201 (D) 5.01201 (C) 5.0201 (D) 5.01201
s3. gt & HEANE GH AEAET BT AN 53. If the sum of two consecutive even
66 %, @ B 99 & B numbers is 66, then the smaller one is :
(A) 34 (B) 32 (A) 34 (B) 32
(C) 42 (D) 24 - (©) 42 (D) 24
54. U A B Aa H 10% e Bl " 54. A man got 10% increase in his salary. If
3 ofe Sg®r 99T aa+d Ho 1,54,000 . his new salary is Rs. 1,54,000, then

B, O IR g daA 2 original salary is :
(A) o 1,50,000 (A) Rs. 1,50,000
(B) ©o 1,60,000 (B) Rs. 1,60,000
(C) To 1,40,000 (C) Rs. 1,40,000
(D) %o 1,45,000 (D) Rs. 1,45,000

55. o5 TEQ B dEr s dIeg S 55. Find the smallest square number which is
4, 0 AT 10 T=H A faifora &t exactly divisible by 4, 9 and 10
HAQ _ .
(A) 900 (B) 400 (A) 900 (B) 400
(C) 490 (D) 360 (C) 490 (D) 360
s6. S WA 1 oTHdH, et B " 56. If the radius of a sphere is %q,then its
—23£ 2, BRT : volume is :
32 —xd it
(A) 2 nd® (B) E?_nda A) 81"t (B) 4 nd
81 4 .
' _3_2_ 3 34 3
© g o) 2740 €) —zd (©) = nd
3 3
2019 ' P.T.L)4
e e —
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D

57.

58.

59.

60.

61.

62.

(

andn

2§ W afiere § fafgw

(A) 35%
(C) 3.5%

(B) 350%
(D) 0.35%
T B g Fr A ey

gﬁ%nsa&‘r%ﬁwﬁa

B ARG Eﬁl‘ﬁ:hﬁ
WWW

(A) 10 99, 12 ¢
B) 5 a4, 10 g¥

il
ERl
g
)
)

14 -7 13

C
&) 13 3

X 567567567 H 567 § T T
S, a1 \FT%A BN

(A) 111
(C) 1001001

(B) 10101
(D) 301

Teh IEET 3750 Rhowio @ g 25
o H qg &l B, 1w aee i
S B oShEd T gl fea
grfy 7

(A) 140 fowto
(C) 150 fpoHto
127 W s
2 216 i

-7
6
(A) 7

(B) 175 fehoHio
(D) 130 fhoHlo

1
{—
C) 5

57.

58.

59.

' 60.

61.

62.

8
N :
Write 25 in percent :
(A) 35% (B) 350%
(C) 3.5% (D) 0.35%

Arjun'is twice a old as Shreya. Five years
ago his age was three times Shreya's
age. Find their present ages :

(A) 10 years, 12 years
(B) 5 years, 10 years

(C) 15 years, 30 years
(D) 12 years, 24 years

~1)+—=7
=7) 13
—-147 -13
A ——— B) —
(A) 13 (B) 3
14 -7 13
(©) T (D) 7

If 567567567 is divided by 567, then the
quotient will be :

(A) 111
(C) 1001001

(B) 10101
(D) 301
A train cover a distance of 3750 km in 25

hours, how much -average distance the
same train will cover in one hour ?

(A) 140 km (B) 175 km

(C) 150 km (D) 130 km

The cube root of 1% is :

w 2 ® =L

(C) 1_16 (D) None of these
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D
o T 10% affes ev q 2 '
63. %uf_ ‘ (?]0(1“;‘1;!‘::()é(;mﬂgcp ) 83. The compound interest on Rs. 1000 at
BiISY, Sel SRS, SN & 10% per annum for 2 years s -
i S AE AR S 20 (A) Rs. 1210 (B) Rs.210
(C) Ho 200 (D) Eo 190 & s 500 i
2 .3 3. 2 3
o, s X(4p°g Fix(7pqn) T | -84, (3p*q r)x(-4p°q r’)x(7pg’r) s
v equal to :
() 84p°g°r (A) 84p°q®r®
(B) 84pSq°r® ®) 84p°q5rs
(C) -84p8q8© ©) -84 p°G5r°
(D) -84p8q55 D) -84 pSg5r®
65. 042 + 0.042 + 0.0042 - 0.00042 ot 65. The sum of 0.42 + 0.042 + 0.0042 —
TR 0.00042 is :
(A) 0.42424 (B) 0.46578 A) 0.42424 (B) 0.46578
. (A)
(C) 0.42654 (D) 0.42528 (C) 0.42654 (D) 0.42528
66. Ueh T W IR 5000 T ¥ 29 66. The population of a village is 5000 and it
W B 99 godl B QA 9y increases at the rate 2% every year. After
e fha eTEmEr Bl ? 2 years the population will be :
() 5108 (B) 5200 (A) 5108 (B) 5200
(C) 5202 (D) 5300 (C) 5202 (D) 5300

67. AR v = RfY 132 Joifio A,
SH g B AFABA T B[ ?

(A) 1386 T WoHlo
(B) 1386 Hotio

(C) 1486 =T FoHro
(D) 1320 & Forlo

67. If the circumference of a circle is 132 cm,

the area of circle is :
(A) 1386 cm?

(B) 1386 cm

(C) 1486 cm?

(D) 1320 cm?

68. 4, 6, 12, 15 TETH T 68. LC.M.of4,6, 12 15=1
(HOHOHO) =7 o
(A) 180 (B) 60 (A) 180 (B) 60
(C) 72 (D) 120 (C) 72 (D) 120
2019

P.
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D

%
7]

70.

7.

72.

73.

74.

75.

2019

SIROUH 240 Mo wpll Y e
TR 18 APes F yr g7 Adl
»

A 39 WM 9N 9w 2
(A) 36 o /90 (B) 54 Rrfio /Ho
(C) 60 Hlos/de (D) 72 RFfio /Ho

T 56-45+x =17, & x=2

(A) 38 (B) 25

(C) 18 D) 9

SJERT 2, 5, 11, 20, 32, 47, ... , 86 H
I §&=11 s Fl

(A) 80 (B) 65

(C) 58 (D) 62

fFdl dagiim 9w & e o
IR 44 Foilio T IR T SuE
15 HoHlo B\ A9 =1 SEaq

(Fowio® H) 8 (11:22—72 SUBISEE

(A) 770 (B) 1155
(C) 1540 (D) 2310
(-1)'%% = T B -

(A) —1 (B) 1

(C) 1000 (D) -1000

Hed UH HIX Hl So 8000 H
TiEar SR UH 99§ 9| 25%
B 97 99 Iar 21 H & faeed
qeg S i -

(A) o 7000 (B) To 6000
(C) S© 10000 (D) Eo 9000
HEOR

4 3

(A) 1 (B) 0

(C) 14 (D) -1

69.

70.

71.

72.

73.

74.

75.

10

If a train 240 m long passes a po.le .in 16
seconds, then the speed of the train is :

(B) 54 km/h
(D) 72 km/h

(A) 36 km/h
(C) 60 km/h

If 56 —45++/x =17, thenx=7?

(A) 36 (B) 25

(C) 16 (D) 9

Find the missing number in the series
2,5,11,20,32,47, ........ , 86

(A) 60 (B) 65

(C) 58 (D) 62

Circumference of the base of a right
circular cylinder is 44 cm and its height is
15 cm. The volume (in cm® of the

cylinder is (Taken = 2—72) 2
(A) 770 (B) 1155
(C) 1540 (D) 2310

The value of (—1)'%% js .
(A) -1 (B) 1

(C) 1000 (D) —1000

Mohan purchased a car for Rs. 8000 and
sold it after one year at a loss of a 25%.
Find the selling price of car:

(A) Rs. 7000

(B) Rs. 6000
(C) Rs. 10000 (D) Rs. 9000
GECR

4) "\3

(A) 1 (B) 0

(C) 14 (D) -1
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V

D
| AL
L GENERAL KNow_gpee
: e
/ “fﬁq w FH 8 76. The main cause of Earthquake IS -
" (A) e (B) i MERS (A) Erosion (B) Denudation
(C) fracii<ies & (D) STIETHCT (C) Tectonic forces (D) Weathering
7. I q% T T 7 77. Whatis dry ice ?
(A) B9 STTeRATST (A) Solid Oxygen
(B) XA FELIST (B) Solid Nitrogen
(C) ST FET STRATFIES (C) Solid Carbon dioxide
(D) B9 T (D) Solid Sulphur
.  India ?
a7 g UBel OS] e =l 78. When was the first train started in India
78. = .
ot 7
(A) 16 3T, 1863 (A) 16 April, 1853
’ 16 aﬁa’ 1852 <+ (B) 16 Aprl 1892
i ’ (C) 26 May, 1851
(C) 26 g, 1851 ) 26 ey, 1850
(D) 26 ¥, 1850 | X
SRRl 27 79. What is the source of Sun Energy
e i stﬁ = ;7;5[ il ' (A) Nuclear fusion
OA).qﬂ§F£FI Pres (B) Nuclear fission
> Tarte B (C) Chemical reaction
© o gl (D) All of the above
D) |
[ d is identified by the
ESISEEEIE] 80. Which feature of foo
> (é‘:{ ;E 'l;g(qu{TEﬁf e ® 7 red and brown mark made on the food
packets ?
(A) SRR (A) Vegetarian
(B) HIATETA (B) Non-Vegetarian
(C) SmeBTETd ST AT (C) Vegetarian & Non-Vegetarian
(D) & & Iz Tl (D) None of these
81. SIFTEFT FTBH STl |?EI§{EI g 81. Shongtong Karcham Hydro Power Project
i ;rtﬁ T fRer @ - is located on which river ?
Ry e (A) Sutlej (B) Ganga
C) | (D) T g
219 X (C) Chenab (D) Ravi

P.T.O.
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87. AT  uREw

88.

2019

D

82. fonrerar wRyr oy

NEREESIIEAN S

A) Rrox
(B) feremage
(C) 7o
(D) =1
83. 5939%24@811::‘1@:;%—:@%,
[
(A) =pisft H (B) gay g
© I Rie D) Ao Frey
84. ‘iR
b T T AR o
(A) =g (B) iy
©ragy (D) Tt
85. oY Hfex PHET T 7
(A) W (B) ERTeT
(C) =y (D) e
86. fevre wyr @y IRICISE I
AT FHy gg ?

(A) 15 oT9<, 1948
(B) 01 Her=x, 1966
(C) 15 ST, 1947
(D) 26 ST9aY, 1971

R e (NAARM) feerg & 2
(A) ¢ Re §  (B) daxmae &
(C) W‘ﬁ (D) AT H
HGEY FT RHRT fFY e § 7
(A) | (B) T

C) @.d.g. (D) Wex A

82. WhICh

% Crfieheera

12

district of Himachal Prédish has
the largest natural lake located in
(A) Sirmaur

(B) Bilaspur

(C) Mandi

(D) Chamba

83. Who was the leader of Dhami Movement

in 1939 7
(A) Kanshi Ram
(C) Sher Singh

(B) Padam Dev

84. 'KALINDI' is the vedic name of which

river :
(A) Vyas
(C) Yamuna

(B) Ravi

(D) Sutlej

85. Where Bhootnath temple is situateq ?
(A) Bhunter
(C) Mandi

(B) Sarahan
(D) Manali

86. When was the Hj

ght Court of Himachal
Pradesh establisheq 7

(A) 15 April, 1948

(B) 01 November, 1966
(C) 15 August, 1947
(D) 26 January, 1971

y of Agricultyr
Management (NAARM) is log

ated at -
(A) In New Delhi

(B) In Hyderabag

(C) In Nagpur (D) In Nainita|

88. What is called the Brain of computer 7
(A) RAM (B) ROM
(C) CPU (D) Mother Boarg

Page- 11
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4

!

hj

o

13

& H T AT R
89- AN o o= & areo

(©) TR
D) 8 A g T
90. %f;?fEJTF?Fq=T AT
(A) 9T
(B) ITgTE
(C) T9H
(D) feuT=E e

T e Rer

91. WRA o FEH T FT DA D ?
(A) -
(B) STETEY
(OREETE
(D) &8
92. WA M-I I GEd T AT
oI
(A) TSI STA
(B) BYEI 3Tl
(C) AT
(D) FRTL
93, Tpa W H BT =T
fpoe T & 7
(A) aTcHITE
(C) Trfere
94. gﬂ?tﬂﬁﬁﬁ' F GEd TH TS HIA-Al
?
(A g

(C) gregfey
2019

(B) gerdrerd
(D) HIfeTaTH

(B) U
(D) 911

8
9. The colour of leaves is greendueto:

(A) Zinc

(B) Nitrogen

(C) Chlorophyll
(D) None of these

90. Where is Great Himalayan National Park
situated ?

(A) Punjab

(B) Uttarakhand

(C) Assam

(D) Himachal Pradesh

91. Which is the longest tunnel of India ?
(A) Chenani-Nashri
(B) Jawahar
(C) Victory
(D) Leh
92. What is the longest part of human
digestive system ?
(A) Large intestine
(B) Small intestine
(C) Stomach
(D) Rectum

93. Who compbsed the grammar of Sanskrit

Language ?
(A) Valmiki (B) Tulsidas
(C) Panini (D) Kalidas

94. Which planet is the hottest planet of the
solar system ?

(A) Mercury
(C) Jupiter

(B) Venus
(D) Satun
P. 1.
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D

95. @lF-dl Qawn shia B, o s i )
fopr ot Iman & ?

(A) FEHSAI (B) Segr

(©) I (D) TES
96. WK &l @-a1 ¥ fafest ey
e & 7
®) Rawraw (@) @i
©) g (D) faiR
97. ‘FHA Naw’ ofix ‘E@Fﬁ . N
iers e ¥
(A) THTET (B) AT
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Name the creature which is not a bird, t?ut
can fly !

(A) Woodpecker
(C) Ostrich

(B) Owl

(D) Bat

Which place of India is known as 'Little
Lhasa' ?

(A) Rewalsar

(C) Dharamshala

(B) Spiti

(D) Kinnaur

'Kufri Jeevan' and 'Kufri Jyoti' are two
famous varieties of :
(A) Tomato

(C) Potato

(B) Almond
(D) Grapes

What is the outermost layer of the teeth
called ?

(A) Enamel
(B) Dentin
(C) Cement o

(D) None of these

What was the Shivalik mountain known
as in ancient texts ?

(A) Mainak Parvat (B) Dhauladhar

(C) Peer Panjal (D) Jaskar

When is the world water day celebrated ?
(A) 22 March

(B) 8 March

(C) 5 June

2019

(D) 14 November
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